9 . Let P and QO be distinct points on the parabola y? = 2x such
that a circle with PQ as diameter passes through the vertex
O of'the parabola. If P lies in the first quadrant and the area

ofthe triangle AOPQ is 3,/2 , then which of the following is

(are) the coordinates of P? (JEE Adv. 2015)
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Solution: -



91 (a, d) Let point P in first quadrant, lying on parabola y* = 2x

(g ) (p2 )
be k?ﬂJ . Let O be the point L_z‘bJ .Clearlya>0.

PQ is the diameter of circle through P, O, O

a b
P = o * =..] =_4
ZOQ %iazfz bzfz = ab

= b is negative.
Alsoar. APOQ= 3.2
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